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Topic:- Child Development & Pedagogy (CDP)

1) A teacher teaches a topic by telling students to come up with questions and presentations. Which principle of learning

is he/she following? / U@ fR1&1® BT &1 U fawd vegrar 8 iR 39w Hafta uy ik ywgfaal & |1y 3m & fore
Pgar g | Fufafea ¥ 9 98 f5a Rigia &1 srRur s @1 82

1. Transfer of learning / WWW

2. Help in reconstruction /gﬂﬁquﬁna‘c{

3. Active participation /Wﬂ%’wﬁm

4. Learning as a social activity / QTG Tfafafy & &9 T SR

Correct Answer :-

« Active participation / Tfch T TguIRId

2) What is the most important thing a child should learn from his failures in school performance / T®% T #) faerey

& Y& A U SRAG sl & Tad Agayqul aTd T a1 ar1fee?

1. To approach challengers with multiple perspectives. /ﬁ%’f@ﬂ%ﬂﬁ@f%ﬁ?ﬁéﬁﬂ?ﬁ%w ST
2. To change their subjects. / 30 fawa} &1 gea|

3. To work on time Management skills. /WWWWWWWI

4. To memorize the one right way of achieving success. / S ddl A & 8! diie! $I a1g G-

Correct Answer :-

. To approach challengers with multiple perspectives. /ﬁ?@ﬁﬁ@fﬁ?ﬁéﬁﬂﬁ%ﬂtﬁq ST

3) Who measured personality based on the two dimensions- extroversion and introversion? / froa afca &

ATH AT P a1 MR TR g1 maral v Frufiva fosar
1. Cattells/ bed

2. Eysenck/3Ta 4

3. Freud/ oIS

4. Bandura/ SgX1

Correct Answer :-

. Eysenck/m

4) can be used to conduct both formative and summative assessment. / &1 IuanT fAAfoTe®

3R GNP SMTH e G| DI HIA & fore fohar w1 goar 2|
1. Homework / Tﬁm

2. Evaluation of teacher effectiveness / fRI&fe THTaRiTeTd BT HcAip
3. Portfolios / Wﬁﬂh
4. Self-assessment of students / BT BT T-3MH T



Correct Answer :-

. Portfolios / TICThIferal

5) has developed a sociocultural approach to cognitive development. / S| Wﬁm & ﬁl’E

T USRI TR e10r faeferd fram 81
1. Lev Vygotsky / INCEIEUISIE

2. Erik Erikson / TR ZHa

3. Jean Piaget / ST oSt

4. Jerome Bruner / SRIA §7%

Correct Answer :-

« Lev Vygotsky / INCEIENISIE]

6) Children can be fully toilet-trained by the age of i T B C4| 31 dh q:& GEE Ll Qﬁw-uﬁrﬁ%m
s asar gl

1. One year / Waﬁ

2. Two years / ‘c?ra'a‘

3. Three years / GIEEL]
4. Four years / dIR El'ﬁf

Correct Answer :-

« Three years / GIREL]

7) What type of theory of development does Erikson propose? / TR&IT A {6 UeR & faepg & Rigia &1
yferarfea fear?

1. Cognitive theory / SIS RIgid

2. Learning theory / e Rygid

3. Psychosexual theory / BRI Rrgid

4. Psychosocial theory / AN Rigid

Correct Answer :-

« Psychosocial theory / AT gl
8) What is meant by Classical Conditioning? / [T G A (FATRIG A DS IR-1T) BT ATTd T 4

1. A stimulus acquires the capacity to evoke a response which was originally evoked by another stimulus. / Ydh Ga\_rl:ﬂ, Th

Tfafshan &) TiTed B B &HaT U Rl & Sl g U ¥ T 3R IeT1 gRT WiAied o1 18 gil |

2. A stimulus loses the capacity to evoke a response which was originally evoked by another stimulus. / Th G%GF‘H, Uh

Tlafhan ) UieTied R B &HaT T it B S Ho T & T 3R Il gRT Hiednfed 1 7S g 81

3. A voluntary response is lost due to a negatively reinforcing stimulus. / THRIHD ¥Y | Holqd A aTell SoT &

HRU W Ufdfehar @ St 8|
4. A voluntary response is followed by a reinforcing stimulus. / U Wi ufafea & s Udh Holgd RS IR % |

Correct Answer :-

- A stimulus acquires the capacity to evoke a response which was originally evoked by another stimulus. / Td BﬁTrFlT, T

Tfafshar &) Tefed B B1 &l U Bt 8 o He 70 § T 3R I gRT Wieanfed &1 18 gt |



9) What memory is used to remember how to make a paper plane? / UTR @ §9M & P P TG 7@ & ﬁl'q
o wfa &1 Sua faran Siman 82

1. Echoic memory / yfcreatad F:ﬂ%f

2. Iconic memory / &Iﬂﬂw F:ﬂ%f

3. Semantic memory / Wﬁ@jﬁf

4. Procedural memory / Ufch T Fﬂﬁl

Correct Answer :-

. Procedural memory / UfehaTeD Fjﬁ

10) What is the term used to describe the person that a child observes and possibly imitates in observational learning?

/ 39 fed &1 faavor w31 F fore fore 2ree &1 waT fovan wirar & o o= Derofia siftrma & oféa srar g
TYId: IHB! THd IdRT 22

1. Adult / 9gIH

2. Model / AISd

3. Prototype / Uieergy
4. Teacher / TRI&®

Correct Answer :-

. Model / HISH

11) What could be the best way for a teacher to motivate children in the early-adolescent years to go improve

academic performance and develop interest in school? / Th e & o =i &t 3916 ‘{R?Gl'l?ﬁ frRTERT o
gf&muahﬁgmmﬁaﬁvﬁmmﬁvﬁrmmﬁ%?mﬂﬁamﬁmmmmwﬁm

1. Increase peer pressure and competition / SR ECTIE] 3R uforegef Y ggldh

2. Induce fear of tests, scores and failure through learned helplessness / ST SrRTadT & HIEH I URIEfuN, 3l 3R
YU & S Pl HH PR

3. improve intrinsic motivation by developing concentration on learning tasks and enhance confidence in their intellectual

abilities / STFITTH HTAT TR THTIAT fAHRId B 3R ITH! g emarsit H TGy SgIahx HiaRes IRom & guR
B

4. Provide rewards and incentives / QRIDPR 3R EhT\‘TIE:T ?(W

Correct Answer :-

. improve intrinsic motivation by developing concentration on learning tasks and enhance confidence in their intellectual

abilities / SHTETH HTA TR THRICT [IHRIT P 3R D! G GAars H STEfay dgrax i IRom § gur

12) Extreme deficits in social understanding is common in what childhood disorder? /

arTfore Tue # Srafie S, areaawi & 5w fier & 9= 32
1. Dyslexia / f&xifan

2. Dyscaleulia / fEEharagferan

3. ADHD / TSI} (SAMTHIG U Hfaafshaar fasr )

4. Autism / 3ATCH )STEATIHIG(

Correct Answer :-



. Autism / 3¢S )STEAGHIG(

13) Humanistic theory of personality is proposed by: / fddcd T AadTaTS! Rigia 5% gRT UwdTfad forar mar
r:

1. Abraham Maslow / 3{§llgH AT
2. Carl Rogers / CANRISES]

3. Pavlov / U1

4. Carl Jung / Eb‘f?f grr

Correct Answer :-

« Abraham Maslow / 3{dlgH AT

14) Schooling is an important requirement for children when they are administered this test. / STd ﬁﬁ'ﬂ?

TTer faaT SITY 9 ISP} TR ST U Hewd Ul STaxadhl &:
1. Verbal intelligence test / e Sfgwdar adem

2. Personality test / fdded e

3. Culture-fair test / HeeR-ThIUR TTeur

4. Performance intelligence test / W §@ qf[&[U{

Correct Answer :-

« Verbal intelligence test / nfe®s a@WT Tieqor

15) Changes that are not due to learning can be attributed to: / gf¥ae <N 3IRRTH & HRUT :Iﬁ%, 3_%3'\‘1% ﬁm
RTHER ST o &1 §:

1. Maturation / TR U T

2. Skills / ﬁmﬁ

3. Social influence / FTHTSTEH THTd
4. Cultural influence/ Wﬂ’?ﬁﬁﬁ UHId

Correct Answer :-

* Maturation / Uﬁ'qﬁﬂ

16) The term Familial factors refers to influence of ./ qIRaIY® ®R® o & YHTG Bl ﬂaﬁ-fa' hdl

Gl

1. family members / UTRATR® J&&

2. school environment on learner/ ﬁT&IT ?ﬁq? ﬁ@ﬂﬂ’q & mﬁa
3. facial expressions/ %33{ % HTd

4. friend/ Tt

Correct Answer :-

. family members / qiRaie dew

17) The role of heredity starts in an individual’s life at the time of ./ At &1 yfire, et aafda &
ST & & AT 9 L= B B



1. Going to school / faemerg S
2. Maturity / gRgehar

3. Conception / TR

4. Birth / o H

Correct Answer :-

. Conception / mfeRor

18) A hearing loss between the range of 41 to 60 decibels is known as hearing impairment. / 41 ¥ 60 STa@

P REFITTATATERUAS ___ YJuI 3I¥ & =Y & o1 o1 g1
1. Moderate / HIH

2. Profound / 7T

3. Mild / 9

4. Severe / didl

Correct Answer :-

« Moderate / HEH

19) Law of Effect was introduced by . /QHUT@SHIaq___ & GRT Ugd forar T U
1. Thorndike / Qﬂ‘f@"l%

2. Skinner / PR

3. Kohler / W

4. Pavlov / LICRIE]

Correct Answer :-

« Thorndike / Y 7“3 b

20) In inclusive pedagogy, computer is used ./ gHTazht Rreorn H, HHYR DI SUNT g srar
gl

1. To motivate the learner / fI&mff &I NI FA H forw
2. To provide feedback / UfdifehaT &M & & forQ

3. All of these / ija?r it
4. To interact with the learner / FR1&mff & T1Y STl HA & ]%I'Q

Correct Answer :-

. All of these / SUdad Tt

21) Which of the following is not associated with chunking? / FrafeIfaa & @ P14 3t dfh A Hag 78 82
1. Meaning / 3f of

2. Miller / feIR

3. Grouping of seven / HId T HHg

4. Long term memory / RERINED Fﬂﬁ

Correct Answer :-



- Long term memory / FECAIKED Fﬂﬁf

22) Which of the following is not a product of learning? / Fafifaa & 9 P RATH BT TS o T8 32
1. Knowledge / faen
2. Physical structure / 1ifaes TR

3. Skill / PIE
4. Maturation / URuedr

Correct Answer :-

. Maturation / URUHar

23) Which of the following development stages is part of Kohlberg’s theory of moral development? / fafafead

DI 1 faPpTd =R, Plgaat & Afae faer & Rigia o1 w32
1. Punishment and obedience orientation/ ol 3R STRTHIRG GH@WUT

2. Interpsychological/ gy I%d?IﬂTIr\}idOG
3. Sensorimotor/ YTRTHIEI
4. Young adolescent/ gdT HRIR

Correct Answer :-

. Punishment and obedience orientation/ TSIl 3R SMRTHING GH@WUT

24) Which one of the following is not a process of memory? / fafafead s P Wﬁl (ﬁTﬁ'\ﬂ) | Udh ufspar
T &

1. Retention / HdYRUT (ﬂ%’Q'I:D

2. Re-planning / gﬁﬁzn\_rl:f (ﬁ—TITﬁ"T)

3. Recall / THRUT (ﬁaﬁﬂ)

4. Learning / IRt (F‘I'EFT)

Correct Answer :-

- Re-planning / g,?{ﬁ!ﬂ\—ﬂ (ﬁ—WﬁTD

25) Which type of parenting is characterized by emotional detachment? / g yeR &1 W—W, HTGATHD
TN Pt fawarorar 32

1. Uninvolved parenting / 3€g e qIoT

2. Authoritative parenting / SRR UTA-aTooT
3. Dual worker parenting / QI&XI oo aTe=-ureT

4. Single parenting / Th ¢l qra—-gryoy
Correct Answer :-

. Uninvolved parenting / 3Ridg UTc GIS0T

26) To improve class discipline, the teacher has to: / P&l i SR Ca éga? H é?ﬁnz, fRrers &1
1. Call parent teacher meeting to discuss the situation. / RIT R EFIT P D 1%111 ) W—QT&‘IH’T %w CAKSIGI %rr%u |
2. Note specific instructions of class rules in the diary. / S H DET [EREIED I?‘léQl | ) fafRree =0 3 e BT EIT%'Er |



3. Evaluate his/her methods and approaches and material./ gt fafeat g ?@W 3R ATl 1 W Geroi) E|T%'Q|

4. Consult the class and agree upon a series of punishment./ P E&T Y IR HRAT 3R &S B Uh m R ggHd gl
ElIRY!

Correct Answer :-

« Evaluate his/her methods and approaches and material./ 3ot faferat @ efdepior iR areht 1 Hedih HAT EliHY

27) CANCELLED

Which of the following situations show aptitude for verbal comprehension? /ﬁm i ﬁ a"ﬁ"'-l ?ﬁ mﬁ"ﬁ,
s wag & fore sifigfhr gxiidt @2

1. Writing a poetry. /Wmml

2. Listening and reacting to a friend’s problem. /Wﬁaﬁwﬁw ﬁvuﬁ%mﬁl
3. Acting in a school play. /Wﬁmwf[ ST HATI

4. Giving a speech in class. /$&‘|Tff UTSOT AT

Correct Answer :-

« Listening and reacting to a friend’s problem. /Wﬁﬂﬁﬂﬂ@ﬂﬁw @Tmﬁl

28) CANCELLED

Which of the following points is not consistent with John Dewey’s approach? / frafafea d @ s=-ar ﬁ'g" Ein §§

F RFU F T T B2
1. Child is an active learner not a passive observer. / = Udh Tferg SiferTHwal % il TUdh fAfspg ﬁ&@ '_‘l_Eﬁ%I
2. Human beings learn through a 'hands-on' approach. / HJ®I ‘%@H—Gﬁq * TPDI0T T ST Har %’I

3. Learning should be relevant and practical, not just passive and theoretical. / ST , U 3R TERIRS B ElT%'E, -
& Faa fAferg ok Sgifaes |

4. The idea that one will be able to quickly recall the meaning of the material the more one repeats it. / foar g8 %’ o aafaa

O Qrht 1 3if¥ep leRTdT B, IHHT 31 Sed] T TTE DB b |

Correct Answer :-

« The idea that one will be able to quickly recall the meaning of the material the more one repeats it. / IR Ig % f sfad

5 Irft &Y 3if¥e SleRrar 8, 39T 31 Sect ¥ TS HR b

29) A 5-year-old child can differentiate his mother from a dog. This is due to which of the following cognitive processes? / 5 ITd &I

o1 U A B TH F1 A ST HY FHal 81 g8 FufiEd aaerers ufharsi # ¥ fFad sror g2
1. Concept /SIYRUM

2. Attention / HdYTT

3. Sensation /HAGHT

4. Perception / S1Y

Correct Answer :-

« Concept /3{dYRRU

30) Bipolar disorder also used to be known as: / %ﬂ?ﬂ PR (EueR %TGI'\I%?) P 59 98 I W ST e @
1. Antisocial personality Syndrome/ SIS Hfada ﬁl@ﬂ
2. Messiah Disease/ WFﬂET AT



3. Manic-depression/ TTgxT 3{ddlq
4. Munchausen syndrome/ H1d ﬁl@’q

Correct Answer :-

- Manic-depression/ X 3{ddlq

Topic:- General Hindi (L1GH)

1) WEUTEY IoT Bt TP T SIeIia & TR TR GRT W1HTa S € <iaiia, TRt ok uefa @) @R o3 ard gl &1 32t TR) 61t & &) 7gigent & = €
— T TSI o7 3R o T Y 7| TR Q1T 37 &f WeTYo sl &) 98t 45 | 91g el 8 | TR) @ Huray’ # S 99 ¢, 39 IR § U S yafed 8|
FET Wl & % g9RI A1e Ugd TR &Rl & ydt 91 37 foresa &t iR PR uifedl & $HR-3tR Hewd 84 A1 wigl WA-U1A &1 A1eF e Wi, 981 & W[ |
W WIS B BISATS glelt df AU R &1 T & Fod Usd | I8 WHESIRT S $9 9@ dodl 36T TR, $S Tel-Tel 781 Bl o Jwar| We- 31 aarr §
YePpA F Sfafvad TRY Gl HI farwH A iR STl WaR) BT W WA ST USar 3T 36 SR TR AT agd WRE g1d A1 381 A TRy wHe § o
7 ST 3R G uT 7 U7 T S g3 UTI 31 &Y HETgHN! A 37 Wi} @t WAl S 3T 3R wwE 1 Y A TR @l @1 I faww uivfRufadt @
e FE 3 RIM R & WF $T e faan

ITY T B USHR 1 YD T U= BT Sk qa1s¢|
UR: TR S & WqUTT B faiwan 82

1. Fad grest

2. Haq TfaiE

3. Had Ui I

4. SWRIaA gt

Correct Answer :-

. IR gt

2) YTy IS9 $1 TS THE SIS 8 TRY | TR @RT [@1HTa | € <iaivm, aied 3R uefa @) Wk 39 ard g1 81 33 TR 99T & & WeTgeul & A1 8
— ST UTSIfer U1 3R & °T g Ut TR WIS 39 &1 WETIou! B 93t ST | TG Barl g1 TR G Aeread’ § ) o7 1, 59 IR o TP el yafed gl
FET W @ % BoR) A1a Ugd R ARl & qder 9 37 forega 3t 3 ggr wifedl # 3HR-3tR Hewd 38 3| wgt WA-11A &1 J1eF e o, agi % 9|
W UISH ®1 Bf&TS gt A ¢ W &1 Wi A Fod Usd | I8 WHIEGIRT Sa- &d b deldT 3T g1, $© Tel-1g! 78t Hel o ghdr| He- t garr
Yeh & Afafvad TRY Al 1 faww M SRR Sielt SIFaRt &1 W WIHAT HAT1 USar 3T 39 SRR AT 959 W g A1 3 o TRy WA 9 W
T SR SR G uT SR T T 7 AT UTI 3 & WRTYST A (U AR Bt TR 1 I/ SR LTI S A TRY AR ot I faww wfefRufo &
e FE o RIM W & WM $T e fHan

IUYe TN B UGHT I T T YR BT SR qa1g¢l
T TSR BT i R ?

1. g fFardt

2. g}

3. R}

4. SIgad

Correct Answer :-

3) AUTe 15T DY TP THE SISl @ TRY | TRY @R TrHTd @ € 2riaft, aiisedt ok uefd &) Ur &3 e g 81 530 TR w91 & €1 7eTges) & A §
— T UTSIToA OT 3R e T g 7| TR [T 371 & WeTY sl &) 98 951 | U1g el & | TR @ Haray’ § S 99 Y, 39 IR 8 TP S yafed 21
FET T § % g9RI A1e Ugd TR AN & gdet i 3R foresa &t iR ggr wifedl & $UR-SR Hewd Y84 A1 wigl @A-U1A &1 Aree i v, 981 3% 9|
W9 HieT B BF3TS gt Y ¢ W B Wi § Freve TS| T8 WG it b q@ dadl I8T 81, T© TEl-Hel T&1 ST ol ebaT | Hie P} Jar &
Yoo & Sifafvad TR @l P faww M 3A7 Sielt SITaRt &1 W AT $A1 USar 371 39 SRR AR 980 W g A1 31 Y TRy wHer 9 S
a7 ST 3% G uT g OT T S g1 UTI 37 &Y HETgHN! A 31U W ot WRITeral S 3T 3R wwE | i) A TR @l &1 39 faww ufivfufaat @
FreTas: B8 3 WM W & 9H ST e &

IR TR B UgHR 1A YD Y Y= BT Sk qarst|
= uRyet Wreg o1 yafgard < g 2

1. PEIR

2. HIASR

3. STeret

4, Hgdt

Correct Answer :-



4) Ty Y P TH YHE TSI € TR TR ST T J € it afeedt iR uefa B wR w39 9 g 81 39 TR WU & ) HeTgesl & AW 8
— ST UTSIfer uT 3R g °T g uT1 TR [T 9 31 WETISu! B 93t ST | TG BTl g1 TR @ Auread’ § ) 97 1, 59 IR W TP e yafed gl
PE1 o1 ¢ b TR Arel Ugd TRY A & gt < 3R fread Y i gR wifed) # $UR-SR Hewd Tea &1 ot @m-1i_ &1 aree fre S, 98 v s |
S WIS &1 Bf&ATS glelt A Y W &1 Wi A Fod Usd | T8 WHIGSIT Sl &9 db deldT ¥8T 81, $© Tel-1e! 78t Hel W1 Ahdr| He- $t aarr o
Y & Afafvad TRY Al 1 e T SRR SiTelt SIHaRt &1 W WIHAT BT USar 3T 39 SRR AR 9gd WRIH gid A1 381 Y TRY Ay 9 W
T SR SR G U1 G T T I AT UTI 3 & WRTYH! A U AR Bt RN 1 3| SR LTI S A TRY @R ot 3 o wfefRufo &
FroTae? gl 3 WM W & S &1 o fhari

I TR B UgHR -1 YD 7T U= BT Sk gargy|
W IRY 1R ?

1. TH uref

2. U STl

3. T GRIT

4.TH I

Correct Answer :-

« TH o

5) AUTerd Tod DY TP THE Sllfa § TRY TRY @i w@rHra & € riafta, aised 3R el ) @R o3 ard 814 81 530 TR T61 & &f 9g1geul & [ &
— T UTSIT o7 3R e T Y | TR W1 31 & WeTYo sl &) 98} 451 ¥ 91g el 8 | TR) @1 Huray’ § S 99 7Y, 39 IR ¥ U S yafed gl
FET Wl ? % g9RI A1e Ugd TR AR & qdt 91 3R foresa &t iR PR uifedl A $HR-8tR Hewd 84 A1 wigl WA-U1A &1 A1eF e Wi, 981 % W |
W WIS $I HSATS gelt aY AU R 91 T & Ford US| 98 WHESIRT Sl $9 a@ dodl 36T 8RN, $S Tel-Tel 781 BT o Jwar| We- 31 aarr §
YeHA F Sfafad TRY G H frwH Ty SR STl WEaR) BT W WA ST USar AT §H SR TR @R agd W 81d A1 381 fa IRy WA ¥ o
7 SIfRrT 3% G uT g U7 T S g1 UTI 37 &Y HETIH ! A 37 WY bt WRRITeral S 3T 3R wwE | Y A TR @l @1 39 faww ufivfRufadt @
frpra®? FE 3 RIF WR & W $T e fan

I T B UGB R D T G BT IR qAZY
= v &1 fae wsg ghm 2

1. 9H

2. Y9

3.RH

4. SR gt

Correct Answer :-

6) TETAY Y P! TH YHE TSI ¢ TR | TR G7 FruTa | g i, afeendt iR yhfa B wr 39 a1 g 81 39 TR W & ) AeTgesl & A 8
— ST UTSIfer uT 3R g °T g UT1 TR WIS 9 31 WETISu! B 93t ST | TG BTl g1 TR @1 " Aered’ § ) 97 1, 59 IR W TP e yafed gl
el STl € b SR) |1l Tgat TR @) & qder 9 ok frewa &t iR ggr ifed § 3eR-3wR Heda Yea 41 oiel @m-1 &1 1w fre o1, 981 ¥ S|
S WIS &1 Bf&ATS glelt A Y W &1 Wi A Fod usd | T8 WHIGGIT Sl &9 db deldl ¥T 81, $© Te1-1e) 78t Hel o Ahdr| He- $t aarr o
Y & Afafvad TRY AR i faww M SRR SiTelt SIeaRt &1 Wt [IHAT BT USar 3T 39 SRR AT 950 WRIH gid A1 381 Y TRY warey 9 =
T SR SR G U1 G T T I g UTI 3 & WRTYHT A (U GRI Bt URRMIGT 1 3| SR FHLT| S A TRY @R bt 3 frww wfefRufo &
FrPTae: B8l S WM W & 9H ST haar a1

I TR B UgHR -1 YD 7T U= BT Si¥ gargy|
W v dew S At 8 2

1. Ufagpa Ay

2. 3TiE BT g

3. 3Jpd HEH

4. fasmm &1 dm

Correct Answer :-

. vfaga T

7) AUTET ST B TH WA Sl 8 TR TRY @01 warurd S & iafd, ufesdt ok vl & wR a3 o 819 81 53 TR 9019 & & 91yl & 9 §
— ST TSI U7 3R gob T Y U1 TR Y1 37 of HeTgoul &) 9t Y51 A UG Bl 2 | TRY @ ‘Aurery’ # $4 a9 MY, 39 IR A U S v 2|
FET AT § % g1 A1e Ugd TR AN & gd i SR foresa 3t SiR ggr wifedl & $HR-SR Hewd 8d A1 wigl @A-v1A &1 are= e v, 981 3% 9|
ST HISH B BISTE gt af ¢ Wl Y Wie § Frpd Uga | I8 TGS Slia= o o Tadl 36T SN, $O TE-Te T ST o ATl HIoH B qarsr &
Yo & Sfafvad TRY @il B e M 3A7 SiTelt SHaRt &1 i WIHET HA1 ST 371 39 SRR AT 959 W g A1 3 Y TRy wHer 9 5



a7 STfRrT 3% G uT g OT T S g3 UTI 37 &Y HETgH Nl A 37 | @t WRmTeral S 3T 3R wwE | Al A TR @l &1 3 faww ufivfufadt @
FrpTasR FE 3 TIM WR & WH &1 e fFan

UG T B g F¥ TR T U BT SR TS
U Auray H P A g 2

1. Oy

2. quT Y

3. fowf wifYy

4. < Yy

Correct Answer :-

8) AUTeg ST $1 T YHE SIS € TRY | TRY @17 TrHTa | g wiaft, aRkeedt 3k upfa $1 wR &3 ara g 81 3¢ TR 99 & &) Aergesl AW
— ST UTSIfer uT 3R g °T g uT1 TR WIS 39 &1 WETgeu! B 93t ST | TG Bl g1 TR T Aeread’ § ) o7 T, 59 IR A TP el yafed gl
FgT 91T ¢ % TR AT Ugd MRY A & g i 3R rsma Y ok gR Wil ® SUR-3WR yewd Ted A1 Wel @M-1iA &1 Are= iy S, 981 v S|
G WIS B BISATS glelt @Y TU R &1 Tl & Fed Usd | U8 WHESIT S $9 9@ dodl 6T SRN, $S Tel-Tel 781 ST o Jwar| WieH 31 qarr &
Yeh & Afafvad TRY Al &1 faww M SRR Sielt et &1 W WIHET HAT1 USar 3T 39 SRR AT 959 W g A1 38 o TRy WA 9 W
T SR SR G UT SR T T 7 AT UTI 3 &) WRTYHT A U ARI Bt TR H1 3@ SR FHT| S A TRY AR ot S fayww afefRufo &
FreTae: B8 3 WM W & 9H ST haar [

UG T B UG A1 TR T YA BT I&R TR

U UG T W IR @R e § ) 992 39S e e @ 2
1.7 C®H

2. TSI

3. BEMT

4. Bidar

Correct Answer :-

9) Uy Y P! TH YHE S-S ¢ TRY | TRY AT FruTa | g i, afesndt iR yepfa &1 R #39 ara g 81 33 TR 99T & ) AeTgesl & 9 8
— ST UTSifer OT 3R g °T g uT 1 TR [T 39 31 WETISu! B 93t ST | TG BTl g1 TR A1 Auread’ § 9 99 1, 59 IR A TP e yafed gl
Fg1 91T ¢ % TR AT Ugd TR AN & g i 3R forswd Y o gR wifedl ® $UR-3WR yewd Tea A1 el @M-1iA F1 Areq frd S, 981 v s |
S WIS F HTE gt dY AT =T 91 T & Fed US| a8 WFEE IR SHad 9 96 gedl 38T 8RN, $S TEI-Tel 781 Hg1 o Fwar | Wie 3t qerr &
Y & fafvad TRY AR B e M SRR SiTelt SIeaRt &1 W [IHAT BT USar 3T 39 SRR AT 9gd W & A1 381 Y TRY 9y § =
T e SR G U1 G T T = g UTI 3 & WRTYHH! A (U AR Bt TR 1 3| SR FHLT| S A TRY @RI ot I o wfefRufo &
fFreTae: B8l D WM W & 9H ST haar &l

I TR B UgHR -1 UD 7T U= BT Si¥ gargu|

U IS Bt darw & fore TR) sifadl @) fd et &1 FHEr S uSdr Ut ?
1. Haq fawy oraq

2. Had STl SIHaR

3. o Hi 3R SRTe IFaR g

4. TTH A B 8T
Correct Answer :-

10) AUTY 3T P} TH THE SIS € TRI | TR AT @1 | € iafig, ol o upfa o wr o3 9@ gid 81 54 TR w9 & o) 7ergesl & 9W
& — 1 UTSIfer U7 3R G T g UT1 TIRY TS 39 &) HETYRH! B1 Tt HsT & TG HaT 81 MR A Hurery’ § $A 99 Y, 39F IR A TP FE yaierd gl
T Wl ? % g9RI ATe Ugd TR &R & gdt 91 37 forssa &t iR PR uifedl & $HR-3R Hewd g A1 wigl WA-U1A &1 A1eF e Wi, 981 6 W[ |
W WIS B BISATS gledt af AU R &1 @i & Fod Usd | I8 WHESIRT Sl $9 a@ dodl 36T TR, $S Tel-Tel 781 Bl o JHar| Wie- 31 aarr §
YePpA F Sifafvad TRY Gl H frwH A iR STl WaR) B W WA ST USar 3T 36 SR TR @1 agd W g1d A1 381 A TRy WS § o
7 SIfRrT 3R G uT g U7 T S g3 UTI 37 &Y HETgH ! A 37 WY Bt WRnTeral S 3T 3R wwE 1 Al A TR @l @1 39 faww uivfRufadt @
e FE 3 RIM WR & W &7 e faan

IWY TR B USHR 1 YD T U= BT Sk qars¢|
UL WIS F} HS1S TH IR TR Fei qad 9 A 2

1. IR W

2. XA RF R



3. H
4, TQRIFT R

Correct Answer :-
. TWIFA®R

11) TUTER 3T P TH WG SIS @ TR TR @R Tarura & & 2riafm, aiedt ok 7o ) UR a3 ad g 81 50 TR 99 & &) aeigesl & A
€ — ST UTSIfer U1 3R g T gAY UT1 TRY WHTST 5 & HeTgeul Bl 98t 4T | UTG Sl g1 TR AR 'urey’ § S 99 T, 59 9 § TP el yared gl
PET o1 ¢ b TR ITel Ugd TRY AN & gt < 3R foread Y i geR wifed) # 3-SR Hewd Tea &1 ol @m-1i_ &1 gree fre S, 98 v S|
W WIS &1 Bf&ATS glelt &) 7Y W &1 Wi A Fod usd | T8 WHIGSIT Sl &9 db el ¥8T 81, $© Te1-1e! 78t del &1 Ahdr| He- $t garr o
Y & Afafvad TRY A 1 e T SRR SiTelt SIHaRt &1 W [IHAT BT USar 3T 39 SRR AR 9gd WRIH gid A1 381 Y TRY warey § =
T S SR G U1 G T T = g UTI 3 & WRTYH! A U AR Bt TR 1 3| SR FHLT| S A TRY @R o 3 o wfefRufo &
FropTa®T gl 3 WM W & S &1 o fhar|

I TR B UgHR -1 YD 7T U= BT Si¥ gargy|

U TR FHTS @) fauw alfRufoa) #f gwer @ foema foa fears 2
1. I S U1 SIfer

2. paagna g

3. 1 OT Sifer SR g1 o1 g o &

4. qaSl =

Correct Answer :-

. STuTSfeE iR g i W e

12) AUTeT 3T B TP THE SIS & TRY | TR 6RT T@rure & & wiafa, aiised o vef &) OR 3 ard g 81 53 TR 991 & &) 7ergesl & A
& — ST UTSIfer U1 3R g T gAY UT1 TRY [T 3 & HeTgeul &) 98t 4T | UTG HIa1 81 TR AR ' Aurey’ § S 99 7, 59 a1 & TP el varad gl
FET AT § % g9RI A1e Ugd TR AN & gder i 3R foresa &9t iR ggr wifedl & $eR-8R Hewd Y8 A1 wiel @A-U1A &1 Aree i v, 981 % 9|
STq HieTT B BF3TS gt Y ¢ W B Wier § Freve TS| T8 WIS it b qd ddl I8 81, T© TE-Hel T8 ST ol ebaT | Hie P} aar &
YA F Sfafed TRY AR BT fawH W SR STl WaRt 1 [IHET ST Usdr AT 56 SRR @R 9gd WRIH 81d A1 381 {0 TRy ware § o
a7 STfRrT 3% G Ut g OT T S g3 UTI 37 &) HETgH Nl A 31U W Bt WAl S 3T 3R wwHE | Al A TR @l &1 3 faww ufivfufadt @
FrpTa®T FEl o WM W @ W1 &1 Hhaar far

IR T B UgHR 1A YD Y Y= BT Sk qarst|

U= Ty &1 WHE Sl § ?

1. Tl

2. Hom

3. TR

4. 78

Correct Answer :-

13) VYA I B Th YU SIS € TR TRY S WIHE § 8 2iaivd, ufeyedt oik uefa & wR &3 a1d 81d €1 33t TR quTe & S WeTgsl & A
€ — ST UTSfer U1 3R g U1 R UT1 TIRY [HTST 3 &) HETgeUT B ISt 45T | UTG Hal 8| MR AN ' Aurey’ § S 999 T, 596 IR | TP Sl vafed gl
FgT oI ¢ % TR AT Ugdt TR A & g 9 3R frsma Y ok gR Wil ® SUR-3WR Yewd Ted A1 Wel @M-1iA &1 Aree iy S, 981 v wa|
T WIS B BISATS gt df TU R &1 Tl & Fed Usd | I8 WHESIT S $9 9@ dodl 6T TR, $S TeI-Tel 781 BT o Fwar| WieH 3t qarr &
Yedh & Afafvad TRY Al 1 faww M SRR SiTelt SeaRt &1 W WIHAT BT USar 3T 39 SRR AT 9gd W g A1 3 A TRy WA 9
T SR SR G UT SR T BT 7 T UTI 3 & WRTYS! A U AR Bt TR F1 3@ SR THLT| S A TRY AR ot S faww ufefRufoa &
e FE o RIM W & WM ST haa fHan

InfeT TR ) UEHR 1 D Y U 7 SwR Farsul

u=H: 1 wifaral & gder 914 o fosad 31 gz wifedl & wewd fra 4 2

1. el SioTfa & T

2. T SO & @

3. TIRI STSTIfd & @Rl

4, g S & AT

Correct Answer :-

o TR SIS & @R



14) AUTY 3T P} TS THE SIS € TRI | TR AT @I | € iaig, afeeedt i apfa o wr o3 9@ g 81 53 TR w9 & o) 7ergesl & 9W
& — O UTSIfer o1 3R g T g U1 TR qHTST 371 & HETYul &) 981 45 W UTg BRal 8 1 TR @1 Huray’ ¥ S8 99 ¢, 39S 9% & TP Bei yaid 21
FET Wl ? % g9RI A1e Ugd TR AR & qdt 91 37 forssa &t 3R PR uifedl & $HR-8tR Hewd Y8d A1 wigl WA-U1A &1 A1e e Wi, 981 % 9|
W WS $I HSATS Belt dY AU R 31 T & Fod US| I8 WHEEIT S $9 9@ dordl 36T 8RN, $S Tel-Tel 781 Bl o Jwar| We 3t aarr §
YePpA F Sfafvad TRY A H1 farwH e iR STl WaR) BT W [IHET ST USar AT 59 SR TR @R 9gd W 81d A1 381 A IRy WA ¥ o
1 AR SR G T Y UT BT 1 GO AT1 S & HETYSUI A (U @i Y Rl oY 3 SR wwHa aﬁﬁwmﬁwﬁwuﬁfﬁrﬁﬁﬁ
FreTas B8 o WM W & 9H &7 Hhaar i

I T B UGB A D T G BT IR qAZYI
U WHET-GHT § B AR ?

1. TGN gAY

2. 5% 9N

3. Sgoile g9

4. g7 9urg

Correct Answer :-

. GE 9

15) TUTY IU F1 UF YUT S-S @ TR TR ST TW@ITE | 8 riat, afesdt i gpfa o1 wr 39 a1 g 81 39 TR 99 & Y Ae1gesl & W
€ — ST uTSfer U1 3R g T gAY UT1 TRY WHTST 3 &1 HeTgeul Bl 98t 4T | UTg Sl 8| TR AR 'urey’ § S 939 1, 59 9 § TP el vared gl
T oI @ 6 BoR) A1a Ugd R AR & qder i 3R forewa 3t 3 Ggr wifedl # $HR-StR Hewd Y8 A | wgt WM-11A &1 Jre e o, a8t % W |
W WIS & BfSATS glelt A Y W &1 Wi A Fod usd | T8 WHIGGIT Sl &9 d deldT IeT g1, $© Te1-1g! 78t Hel W1 Ahdr| He- t garr
Y & Afafvad TRY a1l 1 o T SRR SiTelt SeaRt &1 W [IHAT HAT ST AT 3H $ROT AR ART 9gd W 81d A1 38 T TR e F o
T SR SR G U1 SR T T 9 AT UTI 3 & WRTYH! A U AR Bt TR 1 3| SR FHLT| S A TRY @R bt 3 o ufefRufo &
e BEf o RIM W & WM ST e fHan

IR T B UgHR -1 YD T U= BT SR qarzy|

UH: AT /TR ?

1. Uh MY DT AH

2. ST AP T

3. fae=r

4. T Y BT AW

Correct Answer :-

. T ST BT AH

16) 3THT T ATHT YD
IS ! e Hiean

JoTR TS,

el IR UST § ¢ AR,
LG R

QT & SITe @1 (S
HUPR R Yd

Rer so18 ¥ & Te-aTl

3ETD- §idl HR|

S forsdt 3 emar <i-
AT

forers aif<ft

43T oT-

Xl gt
3T BT AT

ITT TR B UgH - IR W aTd U= BT Sk a1zt
U ATHT FT fae g T gRI?

1. 3RBHR

2. TTaT|

3. TET=T

4. SR wft

Correct Answer :-



17) THT BT ATHT STUDT
IR o1 e Hiean

Y313 UTTS,

el W USt 8 A8 e,
TN @ W e

T P ST Bt ST
HUPR R yd #

Rrer 9o18 Vel & T

SAD- AT AR

S forit A amare -

AT

ferers off<ft

43T IBT-

RO QT

SR BT T4

ITYT TR B Ugdh - IR W aTd U= BT Sk ga13¢|
UR: UETS & - g5l ¥ 98 frad wur fla v @2
1. g R USt Aner

2. 9T &

3. foe| ot smT &

4. VST & Fus A
Correct Answer :-

. gl RUSH AR At

18) 3THT T ATHT FTUDT

ol o1 e Siaan

Y318 UTTS,

el W TSt 8 A e,
THE P E T

T P ST Bt ST

AHUPR R yd d

Rracr so18 YS! & Te-4Tl
3ET- §idl HR|

S et 7 armarer -

AT

ferer off

3T 3oT-

XS gl

3T BT

I TR B UgHR - IR W aTd U= BT Sk ga15¢|
U 3THT BT qui< fba = & frar mar g2
L. fPa & ah & wu A

2. TP & Y & wu H

3. fpam @t aidt & =u o

4. 3T Y B &I

Correct Answer :-

. PO F O HEUH

19) 3THT PT ATHT YD
IR 1 e Hiean

313 UTTS,

el W U8t 8 A areR- A,
T GEP I

AT P ST B ST
AHUPR R YA

Rrer so1g Y8 & Te-aTl



SEHF- AT "R
Y fpat A amarer &-

gAd &
[EGEEEI
y3if IaT-

S gaT
3T BT AT

I U P UgHR - IR 9 a1 U= BT Ik gargu|
U: 3OS | P a1d 3641 82

1. pd

2.OR

3. PIar

4. i

Correct Answer :-

20) 3{TEATT BT AT S1UHT
IR B frew Wigar

YoTR UTTS,

e IR U 8 A areR-,
TH A IGEH I

QTR & ST @1 SfftdY
AHUPR R yd #

Rrer 9618 Vel & Teat-aTI

3ET®- §idl AR

S fost A amare -
vwav

ferers aif

Y3 3aT-

I gl
3T BT AT

ITa T P U@ 1 IR 9 aTd U BT Ik gargy |
T e off ST ot 7 2

1. e S ge I

2. FRret &1 STt ST

EREGECIKERIC)

4. e\ &1 3¢ &

Correct Answer :-

. fodH &1 3 o

21) SATHTRT BT ATHT FTUBY
ol o1 e Hiaan

313 TS,

e IR TS 8 A areR-,
THEI P E T

TETRT & ST Bt St
AHYPR R yd §

Rywer o1 8 WSt & Tedt-AT

3ET- §idl #R|

S foet A arraret -
G T

ferer off

3T 3oT-

e gl
3T BT T

I TR B Ugphe ) IR W aTd U= BT Sk ga1s¢|
U GRS B S Saar are ¥ s es 82



1.

2. e

3. Pt

4. SR wft

Correct Answer :-

22) 3(THTRT BT ATHT TTUHT

IS @1 Ferem i

313 UETS,

el R ) § A TeR-,

TN @ W e

AT F ST B ST

AHUPR R yd

e 3318 Wi & e

SMAD- AT AR

S fpeft 7 smarw -

AT

fererw off<ft

43T IBT-

RO QT

SR BT T

I TR B UgdhR - IR W aTd U= BT Sk g1t
U T $ Vel W FAd are-ard pd fast Hifa udid gl @ &2
1. e IR T e & 99

2. U ¥ 931 U1 & THH

3. T R gEdt ST & 9| =

4, STt 3ffidt & gHE

Correct Answer :-

o et 3ifidY & gHE

23) 3(TPHTR BT HTHT YD
IS 1 e Siaan

313 UTTS,

el R U B A arer-+,
T GEP I

AT P ST Bt ST
AHUPR R Yd §

Rrer do18 Wi & T

3ETD- Fidl HR|

S forsdt 3 3mar <i-
AT

ferers aif<ft

43T 3oT-

Xl gar
3T BT AT

ITT TR B Ugph - IR W aTd U= BT Sk a1zt
WRA: AR BT qaiaar qeg 82

1. Had Bt

2. Had TR

3. Had B!

4. SR gt

Correct Answer :-

. IWiad gt



24) 3THT BT JTHT FTUDT
xSl o1 e Hiaan

Y313 UTTS,

el IR USt § A8 AR,
THEI P EI T

QTR & ST @1 St
HYPR R yd #

Rrer 9o18 Vel & Tear-aT
3ET- §idl #R|

S fost ¥ armaret -
G T

forermr offeft

3T IBT-

Xl gl
3T BT T

I TR B UgHhR ) IR W aTd U= BT Sk ga13¢|
WA: I BT yaigarh e @ 2

1. g

2.9R

3.9k

4, S

Correct Answer :-

25) 3(TEATRT BT AT S1HT
IR B ferew Wigar

Y313 UTTS,

el IR U 8 A areR-,
THHIGEP I

QTR & ST @1 SfftdY
YR R yd #

Rrer 9618 VeI & Tear-aT

3ET- §idl AR

S fost A amare -
vwav

ferers aif

yaif IaT-

X gl
3T BT AT

I T P U@ - IR 9 aTd = BT Ik a1y |
U= ¢ 3T FAT g1 ST 82

1. & A DI T8

2. GO

3. RS

4. IS T

Correct Answer :-

. IGEE

26) 3T BT ATHT FIUDT
ol o1 e Hiaan

Y313 UTTS,

el IR USt § A8 AR,
THE P EI

T P ST Bt ST
AHUPR R yd §

Rrer do18 Vel & T

3ET- §idl #R|
I fpat 9 amarer &-



FTd B

ferer off

3T IBT-

RO gaT

ST BT 4T

I TR B UgphR - IR WH aTd U= BT Sk ga13¢|
U “ATHTI BT UYTIaTH Weg T8 82

1. 3R

2.94

3. 3R

4, T

Correct Answer :-

o 3R

27) SITETT BT AT S1HT
ol o1 e Wiaan

Y313 UTTS,

el R USt § A8 AR,
THE P CI T

QTR & ST @1 SfftdY
AHUPR R yd #

Rrer 9o1 8 Vel & Tear-aT
3ET- §idl "R

S fost A araret -

AT

ferere off

y3if IaT-

e gl

SIERT BT T

IR Ui I U@ -1 IR 9F a1 U= BT Ik a1y
U ‘YA BT UGigar) s § ?

1. Had fhg®d
2. $IA B

3. Had UdRIS
4, IR gt

Correct Answer :-

o IWad gt

28) 3(THTRT BT ATHT TTUHT

ol o1 e Siaan

313 UETS,

el W TSt 8 A areR- A,

THEI P EI T

AT F ST B ST

HUPR R yd #

e 3318 Wi & e

SAD- AT TR

S foelt 2 rmarer -

G T

ferer off

43T IBT-

RO gaT

SR BT T

I TR B UgHR - IR W aTd Y= BT Sk ga13¢|
R U Ui ¥ ugTs fhue! ave s 2 wer e

1. 3sd U PR Pl @Re



2. 7¢ gUfPa B e
3. 9Q gU oM o1 e
4. 9% gUfPAH B RE

Correct Answer :-

. WUfFTA P RE

29) 3ITHTT BT AT 1D
IR B frew Wigar

YBTR UTTS,

el W USt 8 A e,
T TP EE

QTR & ST @1 St
HYPR R yd #

Rrver do1 8 Y8l & Tl

3ETS- §d AR

S fodt A amare -
vwav

fererg aifelt

Y3 IBT-

T gdr
3T BT AT

I TR B Ugp? ) YR W aTd U= BT Sk Sa13¢|

W TR Ui § uf3e e & gadr G fhae) wi e 2w d
1. 3RPR B! e

2. TR R gaTdt s b it

3. UATR1 & UG B RE

4, SIS & W=

Correct Answer :-

« o R e S i

30) TP BT HTHT ATUPT
ol ! e Siaan

13 UTTS,

el IR U1 8 A areR-,
UGB TE R

QTR & ST @1 SfftdY
YR R yd §

Rrer 9o1 8 VeI & Teat-aT

3ET®- §dl AR

S fosdt A amaret -
vwav

ferers aif

y3if IaT-

S gaT
3T BT AT

ITT T P U@ - IR 9H aTd U= BT Ik a1y |
U=A: Id ffasT TR AT gY4T SFUBR BT Uelld oY XeT 82

1. U H 9t At a

2. R &t s

3. Sferdl SISt

4. SRIad qoft

Correct Answer :-

. FusHS Asi

Topic:- General Sanskrit(L2GS)



Y o ufdedr sifAféver weAEd e gadAd -
IORCAHAdT AT ArcdraaTeed: |
TG FAIREIEN T &hreh: foh T8I ||
TISCYd #IAIE TEAYd STl e d |

HAYAT o Al Al I FAT |

UY: UrEcE s o Tesd |



UR=de Ufdcar UeaEd gﬁa_;rdi gad -

3 PISTA? 3 TIPARA| AF gd T Td:| Th d FAGRT: F9H, Id
Tar faddr 3fd A= vafad:| gfadd @ Aic e (FeTeey)
A AT #AH Hed o dhael Th ThhA 3Red, IMUJ afd:, =4, &,

AAH, FIHIIedH T AT @ Aled Id AF oA HARATT G2
Thdlel’ HATd| dd Udld ANl ARAI-RAdsIInedel HAH 3o
HA Soyi: Helal: I g el REdsdidd: AH HeAdeT: I<hiod |
HHA AATH BRI ST IT: TITodd: sAheddy o Jeresfd| Iel

HE STHEAATT 3{rtr0‘r§r ANBITA dal AA §GIH AGalPR alddd |
TaTodrdl 3E T 3§ T fEaeiae TRATfA| 3idil aedf T
TRATTH| 37, feichlel, T fAfIcar F@HTsTaT A |

HRTA FOREET: WY AT HISGHTAT FAGHIAT T HAzo[IAT FATAT|
ST AT TR TAATT| AT TSaT Irem: e T 37dg vdeied! o
AT I[eIcdl 31MIUT TS Tod | HOgoalel shical o 7&Tlod | HIAIGT: diolen
AT eleTd Foo[WAT TATAMT | daT J 376 WA $¢ ST,
ALILATET 37cl: UhRTHA T 3E J SloT: e7alfd| Jor Sfel: Hd &y
IEIcaT HAARH Iefed ddd AAT Siotehvliiaeari agicar sid &=
Redsarreaamfca

37 Taeoay: A IeTeefd -

1@1&'—;21?5

Correct Answer :-



® oot ufsar srenfafiser Teaed Aede gaad -
IO AT ATRAAH I |
TG I &hren: foh T8I ||
TSCYd #THUTE €AY STl TUeld |

HAYAT aed ard Hel: Yo FATER ||

T 3cdHdT ed |



uf=ie ufScar ueaEy ﬂ&ﬁd_-:l,rdi gIad -

3 PISTA? 3 TIPARA| AF gd T Td:| Th d FAGRT: F9H, Id
Tar faddr 3fd A= vafad:| gfadd @ Aic e (FeTeey)
A AT #AH Hed o dhael Th ThhA 3Red, IMUJ afd:, =4, &,

AAH, FIHIIedH T AT @ Aled Id AF oA HARATT G2
Thdlel’ HATd| dd Udld ANl ARAI-RAdsIInedel HAH 3o
HA Soyi: Helal: I g el REdsdidd: AH HeAdeT: I<hiod |
HHA AATH BRI ST IT: TITodd: sAheddy o Jeresfd| Iel

HE STHEAATT 3{rtr0‘r§r ANBITA dal AA §GIH AGalPR alddd |
TaTodrdl 3E T 3§ T fEaeiae TRATfA| 3idil aedf T
TRATTH| 37, feichlel, T fAfIcar F@HTsTaT A |

HRTA FOREET: WY AT HISGHTAT FAGHIAT T HAzo[IAT FATAT|
ST AT TR TAATT| AT TSaT Irem: e T 37dg vdeied! o
AT I[ETcal 3TMI0T IS Tod | FHOgloallel hical o 1&TAlodd | #HIAIGT: dioleh
AT eleTd Foo[WAT TATAMT | daT J 376 WA $¢ ST,
ALILATET 37cA: UhRTHA T 3E  SloT: e7alfd| Jor Sfel: Hd &y
IEIcaT HAARH Iefed ddd AAT Siotehvliiaeari agicar sid &=
Redsarreaamfca

' URTT  SARHATAY 3 F: Asq: YIFA: ?




? qolt ufdear AT UeAEd AgHN FaId -
3hTell ATTEd gHET Siifad T=ao Ifd |
ITENT: 39 AT FIAT LA 3T ||

TG JeTTd: Aoied HeddcATeAnd T |
IITIRT TEIEd €T gicaasid o ||

T I fAITFa=eeqdd 3¢ UeH|



IRTSE IfScdT WRATT AGeAN JIId -

ACATTTIAY TEIFY 3T SRISIhIUSET: Pl SSaTd JMAATTTT T
JgleIcdel TAIA: | ATEH el qoI I IR: A Aldasveer TRIlHr:
CREET: U Ulorfed T | TaEwn: guisarde: fqemattaea @
Ty v sl aloieas] AR T Yedidied T | fasguemasey
3EfleT: Wod: d SR MYOT Fdfed T | HlUS: A dd Ieded

Slefoildel FHIhIA $5¢al | Ad: &: USRI 3TTUUT &fUsddr |

PYHIOT T&TOT UTAT Y: WeHTgel Peldle] | TTSAT Hlelel gareery 3
AGBTEfAY JSAY FeIawaT 3FTAT | gol R Ufd 3eTHeAAr areia:
0T Uidsader R Aleed WHaAMUdaR | fRIavsred arare
MoTaTH fAATIdare |

$hIUSCd: GUSIEE Y Giusadle ?
TQW&UT
1.
2. Q
e TgaaeT
3. ©95
RDELY]

4.

Correct Answer :-



Yellehl gfScar srenfafdscey weaed gdacal Faad -

3TRTCl AT THET Silfdd a>del afd |
?@H:ﬁ%@@wmaﬂmn

i JeTTd: Ao1ed T cleTdd T |
IIHIRT TR €T Jicastd & ||

JdoTeT A Gfcy: safa |



uf=ie ufScar ueaEy ﬂ&ﬁd_-:l,rdi gIad -

3 PISTA? 3 TIPARA| AF gd T Td:| Th d FAGRT: F9H, Id
Tar faddr 3fd A= vafad:| gfadd @ Aic e (FeTeey)
A AT #AH Hed o dhael Th ThhA 3Red, IMUJ afd:, =4, &,

AAH, FIHIIedH T AT @ Aled Id AF oA HARATT G2
Thdlel’ HATd| dd Udld ANl ARAI-RAdsIInedel HAH 3o
HA Soyi: Helal: I g el REdsdidd: AH HeAdeT: I<hiod |
HHA AATH BRI ST IT: TITodd: sAheddy o Jeresfd| Iel

HE STHEAATT 3{rtr0‘r§r ANBITA dal AA §GIH AGalPR alddd |
TaTodrdl 3E T 3§ T fEaeiae TRATfA| 3idil aedf T
TRATTH| 37, feichlel, T fAfIcar F@HTsTaT A |

HRTA FOREET: WY AT HISGHTAT FAGHIAT T HAzo[IAT FATAT|
ST AT TR TAATT| AT TSaT Irem: e T 37dg vdeied! o
AT I[ETcal 3TMI0T IS Tod | FHOgloallel hical o 1&TAlodd | #HIAIGT: dioleh
AT eleTd Foo[WAT TATAMT | daT J 376 WA $¢ ST,
ALILATET 37cA: UhRTHA T 3E  SloT: e7alfd| Jor Sfel: Hd &y
IEIcaT HAARH Iefed ddd AAT Siotehvliiaeari agicar sid &=
Redsarreaamfca

“ Serdiear * 3T ucaAstEa -

Correct Answer :-

3



10)

IRTSE gfScdT TRATT AgHCN AT -

Aedfda¥amd aredad 3T gRITShUsed: hdcafasalasd eRma-lasd @
SgIelcdsl TATA: | ARCH @il Yol w9 GRel: Teerd Algaveel TAe=iar:
CREET: g Urerfed T | TEW: guiEArAe: fqomaftareT @
TUHRY vq il Slsieasd AR T yeddled T | fasmwmasey
Il T d ST Yol Fafed T | Fusea: et ad Feded
STeToilae] HHIhA FSCal | 37d: H: GUSTET 3ITIVT Gosdar |
HYHION T&TOT GTAAT Y: UIcHIG hoidle] | TS il caneery 3
AFSTIAY JSAY FeIaeT 31T | YUl TR 9fd ETHART algie:
oI UfdseTusT HR¥ET Afred AATTaR | gty arare
MuTsaTH’ fAATUAar |

et FIvsia: eivreEs AT

AT H
4,

Correct Answer :-

 foraremes



SelIht gfScar TNfAfCTCET Ty AGHR FII -
3TTT AT T SiIfad g5de afd |
IEICT: 3 helY FHogeAT LA T ||

i T Ao1ed HeadcdTaTnd o |
ITHIRT XA T Fledstd - ||

gadIfded: Udd o #afd |
o
, AR

, FLOTHT

Correct Answer :-

. C.r -

1

Y ‘ST 3 AT A 3T FaedUGHRE-
1. :
2. T
 QTe
3eAq
4, 2

Correct Answer :-



od:

4.

Correct Answer :-

¥ .00 T HHT HEhA To@d|

EECICE |

1. - -

A ES A GO Y

2 c

| SRIRIehTAT:

4.

Correct Answer :-



Yellenl gfScar srenfafésera yeaed Agdacal aad -
IORCTAT AT AT AAH A |
TG AT T &hreh: o ITesrd ||
TISCYd #THUTE &Y Sfel Tueld |

HAYAT dod ard #eT: e FATA |

HAYAT Tl dad |

® oot ufsar srnfafier Teer e I -
3TTell ATTEd UHET Siifad Iadof Ifd |
IENCT: 3 heAY FHIAT LHH T ||

i T8119: ATeT AcaHAcATAAT T |
ATHIRT TEITE I GlecdsTd S ||

3TET lel: oATTed |

Correct Answer :-



19) .
Yellehl afScar rafAfsery weaed gl Faad -

37Tl AT UHET Sifad a=ae afd |
IENT: 39 AT FAT THA TR ||

ig: JeTTa: doied HcdHcATAAd T |
ITHIRT JEITE Ed gfccdsid - ||

318 her FEonfd |
SEE



IRTSE IfScdT WRATT AGeAN JIId -

ACATTTIAY TEIFY 3T SRISIhIUSET: Pl SSaTd JMAATTTT T
JgleIcdel TAIA: | ATEH el qoI I IR: A Aldasveer TRIlHr:
CREET: U Ulorfed T | TaEwn: guisarde: fqemattaea @
Ty v sl aloieas] AR T Yedidied T | fasguemasey
3EfleT: Wod: d SR MYOT Fdfed T | HlUS: A dd Ieded

Slefoildel FHIhIA $5¢al | Ad: &: USRI 3TTUUT &fUsddr |

PYHIOT T&TOT UTAT Y: WeHTgel Peldle] | TTSAT Hlelel gareery 3
AGBTEfAY JSAY FeIawaT 3FTAT | gol R Ufd 3eTHeAAr areia:
0T Uidsader R Aleed WHaAMUdaR | fRIavsred arare
MoTaTH fAATIdare |

CATAIT: CFET: HIELT: 3THA?

hRMell:
2

4.

Correct Answer :-



IRTSE IfScdT WRATT AGeAN JIId -

ACATTTIAY TEIFY 3T SRISIhIUSET: Pl SSaTd JMAATTTT T
JgleIcdel TAIA: | ATEH el qoI I IR: A Aldasveer TRIlHr:
CREET: U Ulorfed T | TaEwn: guisarde: fqemattaea @
Ty v sl aloieas] AR T Yedidied T | fasguemasey
3EfleT: Wod: d SR MYOT Fdfed T | HlUS: A dd Ieded

Slefoildel FHIhIA $5¢al | Ad: &: USRI 3TTUUT &fUsddr |

PYHIOT T&TOT UTAT Y: WeHTgel Peldle] | TTSAT Hlelel gareery 3
AGBTEfAY JSAY FeIawaT 3FTAT | gol R Ufd 3eTHeAAr areia:
0T Uidsader R Aleed WHaAMUdaR | fRIavsred arare
MoTaTH fAATIdare |

grertor: for fAaRaarE?

Correct Answer :-



vollenl afScar srafAfésery e Yg#ccl FaId -
IORCAAT ATl AR HAA e |
TG FRIEIEN T hreh: b eS|
TeYd wadcyTe aEIYd Sfel s |

HAYAT dad ard Hel: Il FATRA ||

FEYAH 3fd TerT argaraag safd |
T T

Correct Answer :-

1. :
chUSelH

2. D ~
dAYL:

3. N2

. LR[AT

QT
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GG
4. 2
Correct Answer :-
airan'aﬁ?r

Topic:- Science (SCI)

1) A teacher demonstrates an experiment to verify Newton'’s law in class. He then asks students for simple
examples that prove the same law. Which ability is he trying to develop? / T ﬁT&ﬁ? DET i | gcqd ¥ frgw &Y
FAIUd A & Y Ue wainT weikid ear 81 a8 e ol | IRa Sqrexvl & e Fedar @ o 9w fHaw wrfea
FYd gl 98 f5a errar &) fAsRia w33 31 SR s w1 ?2

1. Acceptation or rejection of the hypothesis ) IS DY m a1 m P
2. Flexible and divergent thinking / <Taici! 3R fafts fRiq &t

3. Express the task in terms of goals / et & TeH # w1 o) ogad B Bt

4. Correlation between various phenomena / fafia gesil & o Tgddy &t

Correct Answer :-

. Correlation between various phenomena / faftrs gearen & &g ﬂ%ﬂ;&.’ﬂ @t

2) Just as multi-flow map is used for cause and effect, a bridge-map is used for analogies and comparisons. What is its

significance? / foTRT X8 Aed)-Wll A BT IUGNT, H1ROT 3R YHTT & fore favar sivar 8, 3t ave e faw-au &1
I, Srg=arsit 3R gamsit & fore fvar wirar 8 | s vga | 32

1. Effective method in teaching science / ﬁaﬂﬁr&mﬁmﬂd’raﬁW|
2. Creates a playful mood / Wﬁﬁmwgl

3. Improves quiz abilities/ THNTRT mﬁﬁﬁwm%l

4. Improves comprehension power/mﬁﬁm%l

Correct Answer :-

. Effective method in teaching science / ﬁaﬂiﬁr&mﬁq&nﬁaﬁaﬂl

3) A current carrying conductor is placed normal to a uniform magnetic field. Keeping the direction of the magnetic field same, the current
through the conductor is reversed. What do you observe? /



faegq ae® Yaa® & Ue U a3 1Y 87 § WTHR U A 3@ A4 2 | B 87 B 32 &) 96 319 §U, Juas &
Tea | faggq &1 Iae fear wirar 81 8y 3w @2

1. The force acting on the conductor will be doubled. / dTcidh U T Gl d¢] ?ﬁ"fﬂaﬁ'ﬂ?ﬂ%l

2. The force acting on the conductor becomes zero. / JdTeId UX T gl & LA a SITdT %I

3. The conductor will remain in the state of rest. /Wﬁw Wﬂﬁ@"'ﬂl

4. The direction of motion of the conductor will be reversed. /Wﬁ Tfa ﬁﬁ?&n I IAc ﬁtﬂ SITdl %I

Correct Answer :-

» The direction of motion of the conductor will be reversed. /Waﬁwﬁaﬁ R &1 IC ﬁ'CIT\_SﬂﬂT%I

4) What happens when two balloons rubbed with a woolen cloth are brought close to each other? /

T T 8 T 31 IR TP Sl HUS | WIFHR U G- & H19 AT W1 32

1. They repel each other,/ § Th-gER &1 fasffd &d €1

2. They attract each other. / J US-GER P ATHd Fd & |

3. They stick together. / 3 U&-g¥R ¥ fuds T8 & |

4. They neither repel nor attract each other. / 3 71 & Ttb-gaR B 3R fIebfid 21a ¥ 3R 7 €1 amfifa 81 &1

Correct Answer :-

« They repel each other./ 3 W—W CARCEAL GG % |

5) What happens when a glass rod is rubbed with silk? /

T BT & 9 U Bid &1 TS B IH I [IST STdT 82

1. Glass rod becomes negatively charged and silk becomes positively charged. /
T (S BUNHD SR B STl & SR X YD SR B Sl g |

2. Both glass rod and silk become negatively charged. /
T S SR I G UMD AR 81 91 § |

3. Glass rod becomes positively charged and silk becomes negatively charged. /
TN IS AT AR B S 7 R W BUHS AR 8 SFrefm 1

4. Both glass rod and silk become positively charged. /
TS SR T G TS SR 8 & &

Correct Answer :-

« Glass rod becomes positively charged and silk becomes negatively charged. /

A IS YIS AR 8 St § SR ITH D IR 81 e 21

6) A fine powder is sprinkled on the carom board because it ./

TP HEH UISSY B B dis R g1 oirdr @ wifs a8 _
1. increases the friction /‘a'd:UTﬁ Wa?ﬂ %I

2. Reduces the friction /EI'BT'UT aﬁmmé‘cn %I

3. gives correct direction to the striker / ¥CIgHI oI el femn T 8|

4. reduces the effect of gravity / 5@ & UHTd B HH HR T gl

Correct Answer :-

« Reduces the friction /UﬁfUT aﬁmmé‘«n %I

7) How many naturally occurring amino acids are there? /

WIpfas U A I g ara TRFT 3nd fhan TeR & 81d 82



Correct Answer :-

e 20

8) If a beam of white light falls on a plane mirror at an angle of incidence 30°, then the angle of reflection for the red color is: /
e Ahg YT $1 TP 0T 30° F UG FI01 R TH HAAS GUUT TR Ul &, A A1t 11 & wfafda o1 Hior 3:

1.30°

2.15°

3. Greater than 30° / 30° ¥ $ifi&

4. Less than 30° / 30° ¥ &H

Correct Answer :-

. 30°

9) Sambu lives in a slum, drinking water usually gets contaminated. He is prone to get diseases like_____ ./

Y T FUSUS) ¥ ¥gar 8, Sel viA &1 Uit arar=a: gRa g sarg1sd ok dwifai 819 &Y yaurar@siman g1
1. tuberculosis / &I

2. measles / GO

3. chicken pox | ATH

4. typhoid and cholera / TTSHTSS 3R BICRT

Correct Answer :-

« typhoid and cholera / TTSTZS 3R BITRT

10) An object of 3 cm height is placed at a distance of 15 cm from a convex lens of focal length 10 cm. What is the size of the image
obtained? /

gﬁsﬁfﬁ”ﬁ#mﬁaﬁaﬁ 10 HHieR Biwd TS aTd T I9d A | 15 H Bt g1 IR 3G 9141 § | I SIS BT MR 1
?

1.2.5cm /2.5 94t
2.6cm/69Hl
3.3cm/3 9
4.9cm /9 It

Correct Answer :-

. 6cm/6@1ﬂ

11) Which of the following statements is true regarding sound?/
FfafsRa i s-arsy aR S A aa @2
1. Sound is a mechanical wave which needs a material medium for its propagation./
i T TifAe a1 8, o 39% TR & forT uer Hifde Ared o) mawasdi gl 8
2. Sound is a mechanical wave which doesn’t need a material medium for its propagation./
@ T i a1 8, FoR 39 TR o forg +{iferep Aes &1 Sawaeal 181 gidll o
3. Sound is a mechanical wave, so it can even pass through vacuum./

£af~ U TifAe a¥ §, 39fee I fafd & Arend 9 +f 3R UR o1 Il g1



4. Sound is a transverse wave. / & T& SR T g

Correct Answer :-

« Sound is a mechanical wave which needs a material medium for its propagation./

G T Fife T &, o 59% TR & forg e Wifaes Arem of siawaear gidl 8|

12) Which of the following can be used to make the inverted image erect? /

Ierdt wfafara oY et w3 & forg Frafafea 3 & fFa o1 Suah fear s awa 32
1. Concave lens / 3/@dd o

2. Plane mirror / JHAA GYUT

3. Convex mirror / 3 GUUT

4. Convex lens / 3Td o1

Correct Answer :-

« Convex lens / 309 A9

13) The amount of light entering the human eye is controlled by: /

T A B Y3 A arelt A=t 3 A 39 gR afa gd @
1. Iris / GRATREBT

2. Cornea / BIT=T

3. Pupil / gadil

4. Retina / 3T

Correct Answer :-

. Iris/qﬁﬂTﬁ_ﬂ

14) Why are large poultry farms constructed? /

I3 PaPpe/gi Tl 1 o 4 far e 32

1. To raise broilers for chicken meat in large numbers. /
o1 wie & forg aSt e & sifser 9 & fg)

2. All the above facts. /

Sudad guft a |

3. To develop very good hatchery for egg layers, in large numbers. /

o) TE # 32 3 TRl 3 Ry S5 o) wpeTan R 5 F Rl
4. There is low maintenance requirement for developing poultry. /

FIHCUTA & [AHN & oY HH T@RETE BT HTISHdT Bieil 5
Correct Answer :-

o All the above facts. /

Iudad Tt a |

15) If a grass hopper is eaten by a frog, then the energy transfer is from /

Tfe T o3 ) Hew @1 Aa1 ], ) 3N ol RIHIGRT 8T 3-

1. Producers to decomposers. [ATGH! I qged] o

2. Producers to primary consumers. [ITEH! Wit Iuiaarst o

3. Secondary consumers to primary consumers. [t Iuviaarst ¥ wrufhe Suriedrsi &



4. Primary consumers to secondary consumers. / IS IUHTEISH ¥ fgcdiad SuHiadmsh o

Correct Answer :-

« Primary consumers to secondary consumers. / I IuHiadrstt I fadias Iumiadrst &

16) Tincture of iodine is made by dissolving /

TS BT & e & | fd we &2 g S 8-

1. Todine and sodium chloride / TSI GhT ofesgm Eﬁﬁﬂg‘s’

2. Todine and potassium iodide in ethanol / ‘sﬂ:ﬁa T e ik MefRrm 31'@3133
3. Iodine and glycerol / ST 3R ferRTa

4. Todine and water / TSI 3R Tt

Correct Answer :-

« lodine and potassium iodide in ethanol / s’éﬁa T IS iR MRy Gﬂ?ﬂ@'ﬁ?{

17) Find the incorrect statement /

Ted SUA T BIfog

1. Butter is separated by churning /
HeRE HY GRT 3feHT bt STl 3
2. Components of a mixture change their properties when mixed. /=
T fAy0r & sraga ora i foed S €, df ofom o7 &1 aad g1
3. A pure substance has a fixed melting and boiling point /
TP Y5 Uard 1 T (T TeHie 9k Ui g g
4. Milk is a mixture /
Y TS Ao gl
Correct Answer :-

« Components of a mixture change their properties when mixed. /=

T Y01 & 3iqga oia i el o €, df 3roe o7 B sgad B

18) Freezing point and boiling point of pure water at sea level are respectively: /
T ¥R R Y o $T fgiep 3R sy puFu e :

1. 0°C and 100°C / 0°C 3R 100°C

2.37°C and 100°C / 37°C 3R 100°C

3.4%C and 100°C / 4°C 3R 100°C

4.1009C and 0°C / 100°C 3R 00C

Correct Answer :-

« 0°C and 100°C / 0°C 3R 100°C

19) Identify the displacement reaction which will not take place. /

A farra siffopar <t afed =16t g1h, Sweh! wga A
1. Copper metal dipped in FeSOy(,q). / PR 4T FeSO4(aq) 4 Qa1 gsll % [

2. Iron metal dipped in CuSOyaq)- /e YT CuSO4ag)- 4 g1 gsll |

3. Magnesium metal dipped in ZnSOyaq). / ERIIRuE U] ZnSO4(aq)- o |aT g3l H



4. Aluminium metal dipped in CuSO4(aq). / TEIHIAH HT CuSO4(aq). H TS §3M &1
Correct Answer :-

« Copper metal dipped in FeSOaq). / PTOR HTq FeSOy(q) H ST 3N B

20) The dimensions of torque are: /
3P & M §:

1. [MLT!]

2. [M2L2T?

3. [ML2T?]

4. [ML2T2]

Correct Answer :-

21) The process of depositing a layer of any desired metal on another material by means of electricity is called: /

faoTeht & wreaw | fadt aifea org 3t wa fadt s Il R 5w A F ufthar ) weT T :
1. Electrification / [dggciep ol

2. Electrocution / fdggd gg

3. Electroplating / fdggaciu=

4. Electrolysis / fdgdd srqae

Correct Answer :-

« Electroplating / faggacid=

22) The Science Teacher brought a white solid (X)to the class and informed the students that she had used it for cooking at home. When
students touched the solid with wet fingers and rubbed it between fingers. it felt soapy to touch. It also turned red litmus indicator paper
blue.ldentify X./

fagm e wam ¥ v ke 3N (X) A1 TE BT i JRId fhar fr 311 =R W @HE1 yshT & e st IuahT fBar ot 59
Bl A el Inferal & A1y 39 1 Y W=t faran vd Sarferal & oftw A 394 WS, A I U8 AIGH 1 T 39 AT ey gue
TR o1 W fiat 31 A e fean X B uga|

1. Common salt. / YR THD |
2. Sugar. / Eigil

3. Baking powder. / ST T3 SR
4. Maida powder. / AT USSR

Correct Answer :-

« Baking powder. / SfHT UB R

23) A base among the following is: /

1. CuO

2. C02
3. SOZ

4.NO,

Correct Answer :-

« CuO



24) Calculate the mass of MgSO,4 which will contain the same number of molecules as contained in 10.6 g of Na,CO5.

[Atomic masses: Mg =24 u,S=32u,0=16u, H=1u,Na=23u,C=12u]/

MgSO, & I SHHA B T0FT B+, Forad g srupsii &1 H&AT, Na,CO; & 10.6 98 § g Srupsii &1 w&m & 99 gt
[IRHATY] SAHTT: Mg =24 u,S=32u,0=16u, H=1u,Na=23u,C=12u]

1.12g/129H

2.10.6 g/ 10.6 UTH

3.120 g/ 120 9H

4.01G/0.1G

Correct Answer :-

. 12g/ 1299

25) When 10g of sugar is added to 50ml of water taken in a beaker and mixed well what change is seen in the volume of the solution
formed? /

gﬁwﬁmwsoﬁ?ﬁ?ﬁauﬁﬁmmmiﬂﬁwe@ﬁﬁww%ﬁﬁﬁaﬁwaﬂmﬁwm&mm

1. Volume of solution decreases to 40ml. /
faea 1 s 40 firclielier % ge S g |

2. Volume of solution remains the same at 50 ml. /
faea o1 s 5o firclieiex W I0M w3

3. Volume of solution increases to 60 ml and then decreases to 40 ml. /
faer &1 3maa 60 firefiefier T §g wTe § SR R 40 fircfiefieR d& g S 7 |

4. Volume of solution increases to 60 ml. /

faera= &1 3made 60 firefieliex de s¢ ST R |

Correct Answer :-
« Volume of solution remains the same at 50 ml. /

e &1 3maad 50 firefieier R 9HH @ar gl

26) Why is it not possible to break the stream of water from an open tap by moving our finger in between the running stream of water? /
Ut Bt 4RT F T FERE ST B gAF | GA 79 A R o B Ut Bt A dva i T8 82
1. It is because the speed of the moving stream of water is very high. /
U1 3o Fifes ot @t asita yRT 3 1fa 9gd ot g 81
2. It is because the size of water molecules is very small for our finger to pass in between them. /
U1 gAY ifes Ut o 10l &1 SMeBR SHRY STTel] A Bebr oA b oTT Igel 81 BT Bl &1
3. It is because the water molecules are held together by forces of attraction. /
ST HRUI TE § b U & 3] My 0T ot gRT T ok 4 8 S B
4. It is because the stream of water experiences gravitational force of attraction. /
T ST Fifas Uit 1 URT H@IH YU §d BT SgHT Bl 5l
Correct Answer :-

« Itis because the water molecules are held together by forces of attraction. /

YD HRUITE & b U P 3] SHTHY0T 90 §RT TP g W S B & |

27) Which among the following is a positively charged sol? /



Frafefad # &« ¢S Fu § mafRid ve faea 32
1. Arsenic sulphide / Gflﬁﬁ?w

2. Clay / Fap+1t firgt

3. Gelatine / fSTaIcH

4. Aluminium hydroxide / TegHITH TS SIS S

Correct Answer :-

« Aluminium hydroxide / Q?Iﬁﬂﬁuﬁ E@Jm

28) Which one of the following methods is used by you to control growth of weeds in agricultural fields? /

P & # Wuaar! & et o) Fifia s ¥ fore Fafafaa & 3 e faft w1 suahr smuds gr1 far smar @2
1. Maintenance of hygiene / ¥ dl T IAXWT

2. Prophylactic treatment / AR IR

3. Intercropping and crop rotation / eI 3R I Tl

4. Genetically modified crops / &ﬁaﬁmw RN B

Correct Answer :-

« Intercropping and crop rotation / $2sh T 3R B Bl

29) Which one of the organisms is likely to have maximum concentration of harmful chemical DDT in the aquatic food chain consisting
of King fisher, zoo plankton, fish, and phytoplankton? /

fhnfpeR, wtrea®, aod, Td TeUw@as & g+ ety W 49d § S | TS ot § gIeRS Iaa-e Sieidl ot
SR Higdl g1 Bt AU gRI?

1. Fish / H&all

2. Phytoplankton / UTqU Widdh
3. King fisher / fhitheR

4, Zooplankton / PN GEA

Correct Answer :-

« King fisher / HIBIR

30) Which two of the planets mentioned below have CO, as the major component of their atmosphere?

Earth, Venus, Mercury, Mars, Jupiter . /
= fow e 3 w6l & | forud argHEd & UHE 9w & FUH Coz 772

gt b, U, WA, et
1. Venus and Mars / [sh 3R TTA
2. Venus and Mercury / [P 3R qY

3. Venus and Jupiter / [sh 3R w
4. Mercury and Mars / §Y 3R TS

Correct Answer :-

« Venus and Mars / {[h 3R HTE

31) Which gas having an unpleasant smell is liberated when Ferrous sulphide is reacted with dilute H,SO4? /
9 T epTgs B SfUTHar a9 1,50, F TTY S STdl @ a9 S 7y HY PF-30 39 gaa gt 82

1.Cl,



2. SO,
3.S0;
4. H,S
Correct Answer :-

. HyS

32) Two unequal resistances joined in parallel are connected to a cell. Which of the following statements is true? /
31 AT Uy HHTGR U A 93 ¢ 3R U I | T 1| Fufif@a d § sH-ar sy 9 82

1. Potential drop is same in both. / favg uaq aﬁ:ﬁ HgAH % |

2. Potential drop is less in the smaller resistance. / B yfoRiy & fgya ua w8 % |

3. Current is more in greater resistance. / a% yfaRry § 4Rt 3ifde %I

4. Current is same in both. / YRT a:ﬁ HgAH % |

Correct Answer :-

« Potential drop is same in both. / fqya ga= 1 & IHH %I

33) displaces zinc from ZnSO, solution. /

_ znso, faeaa & fie o1 fawima srar 2|
1. Copper / GICH

2. Lead / THT

3. Iron / TR

4. Magnesium / ifREe

Correct Answer :-

» Magnesium / iRy

34) What test measures, through tasks, the ability to apply the skills and knowledge learned? / P I Treor P4l

F HIeW |, P 3R [ B ARL P P &a1 W &1 AT 22
1. Breadth test / TTSTS URI&IUT

2. Power test / Qo] GRI&I0T

3. Speed test / TTfcl TRT&0T

4. Performance test / TG TI&0T

Correct Answer :-

. Performance test / T&R TI&T0T

35) Learner-centered assessment process does not focus on: / Rremdf-FHfea sriwa uftrar R a"@?ﬁlﬁ
Lokl

1. Assessment of learning / SHTTH BT 3BT
2. Assessment for learning / SfRTH &H ﬁ’l";f K ICaNG|
3. Learner’s individual performance / Rrenff o1 afaarra uewH

4. Learning the process and experience instead of learning the product / 3dIq & ST & SO Hfehar 3R S{JHT BT
3ffeTH

Correct Answer :-



. Assessment of learning / HTTH BT ATH AT

36) Which of the following is a myth about science? / fAaferfaa A A p-T1 RIFA F IR A v fAys &2
1. Science is perception/ ICRIRRIREII %I

2. Scientific knowledge is absolute / ésnﬁw I U %I

3. Science is dynamic and tentative / ]%3‘”:[ LGRS GﬁT Tyrfad %I

4. Science and its benefits are universal / ﬁ?‘ﬂ:f 3R 3?@7‘ ATH IS %I

Correct Answer :-
« Scientific knowledge is absolute / 33|Tﬁ$ iﬂqﬁﬁ&f %I

37) Which type of memory stores information relating to ourselves? / fra yorR Bt Wﬁf W4 A el IRt

S et 82

1. Autobiographical memory / STHDUYTHD Fﬁ[ﬁf
2. Episodic memory / RIS Fﬂﬁ‘f

3. Biographical memory / St Fﬂﬁ[

4. Declarative memory / BINICED Vﬂ%{

Correct Answer :-
. Autobiographical memory / 3THBUTHD Wi

38) Akash will reach his school in 15 minutes on his bicycle. If he rides his bicycle with an average speed of 3m/s,
then how far is the school from his home? /

Tfe SrepT=T Uit ATsfee 3 Wiew / Ydbs FI 3ia far A Tarar 8, @ 98 U=t WsfHa A 15 fArTe A v ¥d ug=hm, ot 3ud &R
Y frat gr &2

1. 2700m/ 27004To
2.270m/ 270 Hlo
3. 45m/ 45Hlo

4. 450m/ 450 Hlo

Correct Answer :-

« 2700m/ 2700Hto

39) What are the advantages of keeping an apiary? /
aywAfr=ITar @R & o ary 82
1. Honey is widely used all over the world. /
ge 1 W faga U 4 g g A gt g
2. Bee keeping is a low investment scheme. /

YR} uTer U g faw aiemT ®

3. Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for medicinal purposes and will be an additional
income generation for the agriculturist. /

TES & UGN & 1Y B 3NN It & forg off meii B AYARS UTe FHY I § 3R Fu@ & oy sifafead smaare= §
4. Bee keeping does not need much investment and can be grown anywhere in the garden or even on roof tops. /

TYARE A & fore 3ifiies o &t siaxadsar 78 8 9iR 38 i a1 &, Fel +ft fas i s s gwvar g

Correct Answer :-



« Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for medicinal purposes and will be an additional
income generation for the agriculturist. /

6T P YIS &b 1Y BT A1 Ieat & forg f A 3 Hywardt urer HY I § 3R He & forg sifafad oma wreq 7

41) “Assessment is both reflected and reflecting process”. In this statement, reflected and reflecting words are used in reference to

and respectively. / "3fi®ad, uRaféa (Rpaaes) Gﬁ?mﬁﬂﬂﬂﬁ(m)ﬁmﬁél"w
wﬁgwwwmm(ﬁm@)ﬁmwmmm 3R &
g EIGI!

1. student’s feedback, teacher’s feedback / BTH b1 uﬁg@, fR1er @1 uﬁg@
2. student’s performance, teacher’s performance / ST I EIH'-‘\’%L e/ &1 yeeH
3. teacher’s feedback, student’s feedback / TRI&& @1 W, CIEK] Elﬁ'g@
4. teacher’s performance, student’s performance / fRrefeh &1 QEQ]C:T, B BT USH

Correct Answer :-

. student’s performance, teacher’s performance / ST PI EIT{Q%L e &1 e

42) What is the duration of kharif crops. /
TE waa Bt safy a1 32

1. June to October. /\_rffﬁ SfICR dh

2. March to September. /r{ﬁf@f RyareR d&

3. November to April. / Fd&R I &@HW

4. October to March. / 3fagsk I o1 %
Correct Answer :-

« June to October. /\_rffﬁ SfIgR dh

43) The correct statement among the following is: /

faddafisue:

1. Dry ammonia has no effect on litmus paper / [t ST FT ferermy TR IR ﬁ's‘ THTE -Tg! gsdl
2. Curd is basic in composition / aﬁ ﬂtﬁﬁF‘f ﬁf &‘ﬂﬂ’q %

3. Solution of glucose in water is acidic /O o WE')AITTT &1 faeq sty %

4. HCl is a weak acid / HC1 U% gadl 3% §

Correct Answer :-

« Dry ammonia has no effect on litmus paper / [t M FT fefermy TR IR ﬁ's‘ THTE -Tg! gsdl

44) To bring a charge of 5C from infinity to a point in an electric field, 50 joule of work is done. Find the potential at that point. /

U fagga &7 | oFd ¥ 5C F1 313 U fig 9@ aM & forg, 50 @ &1 w1 fovan wimar g1 39 fig wR frva g w3



1. 250V
2. 25V
3.0.1v
4. 10V

Correct Answer :-

. 10V

45) Two forces are acting on a body such that the angle between the direction of application of the forces is 60°. The minimum
number of force needed to keep the body at rest is:

3 90 U FeTg R &1 7 3@ € o b 7l & rguai @ fa=m & i &1 #1160 © 21 e #) favm W @A F forg
ATAIS <YAqH TSI 99 §:

1. Only one force /WWW

2. Two forces /33f dd

3. No additional force is required /ﬁ'&F AHfafved sa Wq_&pfél
4. Three forces /?‘ﬂqw

Correct Answer :-

« Only one force /WWW

46) Amplitude of vibration of body is the deciding factor of :
/ FoT & $U4 & M F1 FAUiae $RE 8:

1. The quality of sound produced / Idrfed @ ot Tord et

2. The intensity of the sound produced / Idrfed & B dtadn
3. The period of vibration / U= P 3afy

4. The frequency of sound produced / SdTfed & ®T 3MgRT

Correct Answer :-

« The intensity of the sound produced / IdTied @f &t digdm

47) Ecosystem is constituted by /

uiRkfRfee &= ®1 Fmior feT & ghar 2:

1. Dead organisms / {d Sitg

2. Only biotic components. / FId JfIb Tch

3. Only abiotic components / HId 3fAP Teh

4. Both biotic and abiotic components / 3w 3R 3roifaes gew gl

Correct Answer :-

« Both biotic and abiotic components / Sfaes 3R i gew At
48) CANCELLED

Fever is caused due to the /

TR BT HROI T 3:

1. overgrowth of bacteria /aﬁﬁmﬁ HAfAH q@

2. overgrowth of virus / IR P1 3‘@%@@

3. overgrowth of pathogens / TS B W?{@

4. body inhibiting the growth of pathogens / ¥ IR AT & faH™ B Aha %




Correct Answer :-

« body inhibiting the growth of pathogens /WW%@W@W%

49) CANCELLED

We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

TR ® ge T P BUS| A gH 3 IRTHEH® HegH $d & FIfP e TN H HUS &

1. Light coloured cloths absorbs more heat radiation/ _e'ﬁ'? JTFH m, 3w o fafeor &1 GW@WHW%I
2. Light coloured cloths absorbs less heat radiation /_6'@7_ T H Wg, B &Y faferor ot &ram‘rfﬁaaﬂ?r%l

3. Dark coloured cloths radiate more heat radiation /TIB%T‘T%?W WWW, ﬁﬁﬁ’ﬁm%l

4. Light coloured cloths absorbs more moisture / 8 T % HUS b TH BT 3@ Ha B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation /6’@7_ J0F m, B W fafpor o1 mﬁﬁaﬂﬁ%l

50) CANCELLED

Raj pets a dog behind its ears because he saw his father doing it. What type of learning is he exhibiting? / ITe] Th ﬁ
DI IHS DM P ND ATS WR Hdl § TP I U a1 1 T/ H¥d ¢@1 U1 78 {59 ToR & iftrm &1
TERH T TET 7

1. Instinctual learning / H UYJIATHD iRy (TG F‘Iﬁ'T)

2. Observational learning / Yeruit sifermy (&r”raﬂé‘sr:ra SIRED)

3. Socio-cognitive learning / ATHTIO-THTEHD HTTH (AA-BI=ed =)

4. Latent learning / 3oad 3T (é%_cr a'ﬁ"'l)

Correct Answer :-

« Observational learning / plavipRel b (&ﬁ’ﬁﬁ'ﬂﬂ?{ ar)

51) A vehicle is moving with a speed of 90km/h. What is its speed in m/s? /
T are- 90 foret/ e $t fa | oM ggar 71 Hiew/¥. # fHa 82

1. 90 m/s/ 90 HIC/Ho

2. 15 m/s/ 15 HicX™o

3.2.5m/s/ 2.5 HIEY ™o

4. 25 m/s/ 25 HICY ™o

Correct Answer :-

e 25m/s/ 25 ez Do

52) A teacher can use which of the following strategies of teaching to complete the syllabus for a class having majority of students

with different learning pace? T e siftraiwra: m—mnﬁﬁmﬁmﬁmaﬂwm&n%maﬁmmﬁ%
forg Frfafed # 4 forw Torifa 1 STaRT % |@ar g2

1. Use of ICT resources / aﬁ?ﬁzﬁ TOTeET BT YT

2. Individualized classes / TG P

3. Conducting tests every week / gX Hidlo TRI&T TSI Rl
4. Teaching only limited syllabus / FHad HIfHd ITeaHmH Yeldl

Correct Answer :-

« Use of ICT resources / aﬁ?ﬁﬁ TOTeET BT SYART



53) A" ion containing 18 electrons and 18 neutrons. Name the element A. /
T AR A” | 18 SATE 3R 18 =Yg &1 Icd A HT -ITH Famd|

1. Potassium / GreRrg

2. Chlorine / GO

3. Nitrogen Fﬂ%‘@?ﬂ

4. Aluminium / Q?I&lﬁtm

Correct Answer :-

« Chlorine / TR

54) Animal parasites are also consumers. Identify the ecto parasite from the list given. /
uY] el off SuiaET 1d 71 & TS Y 9 SreruReidt o uga |

1. Lice / \_3\;1':

2. Plasmodium /@ISHIISTH

3. Pinworm / fU&TH
4, Tapeworm / BIdIHH

Correct Answer :-

. Lice/\_;ju\

55) A student with a scientific attitude will: / QYITI=eP TIPPHIVT ATeAT Uh BT SN -

1. Develop independent thinking / ¥Id= g fas R oA aran

2. Admit their mistakes only under duress / 3t ATl Bl HId gaTd H WHR HH aral

3. Ignore details irrelevant to the task at hand / 8T " W e ﬁ'ﬂl SR fagvon &1 GF-@ET B T
4. Suspend the judgement after one-time confirmation / Th-dR P E@ & diq Aol wiffig 3 arar

Correct Answer :-

. Develop independent thinking / Td= Ad [deRId S ATl

56) What is the basic education qualification laid by the Educational departments of the majority of states for a high

school class science teacher? /| Th 3= faemerg ot faTI'FI e * f%l'l'{ 3IfYpier Ireul & ﬁf&w Ay 154
Freffya ey Rram avaar w22

1. Bachelor degree in any subject / foat off fawa & Arae Iufy
2. Bachelor of Education / fRrem o wrds

3. Bachelor of Science / ﬁ?‘ﬂ:f A Hde

4. Master of Science / ﬁ?ﬂ‘f T Hdp R

Correct Answer :-

. Bachelor of Science / ﬁ?ﬂq H Qrds

57) A learner is able to solve numerical on current. According to Dale’s ‘Cone of Experience’ he has most
probably . | T e, YRT (PIC) W T=ITHS UY ) T P31 & HH 2| A P "B ATB
TRGINGE' & AR SHad: 394

1. read a book / W‘Taﬁ%

2. watched a demonstration / Uh UGR[ RG] %



3. role-played a situation / Toh _ufad '{&Iﬁ ﬁlﬂg %
4. heard a lecture / U SURSAT YT %
Correct Answer :-

. watched a demonstration / Th UgR[H a@T %

58) Achievement data is collected with a focus on the science content that is most important for the students to

learn. Which of the following facts leads to a contrary opinion? / Iudfsy @ET, ﬁ?ﬂ? IR R A9 Hfgd A &
1Y Th a1 SraT 8 ol B & Jeq F fore ga wewayef 81 Fufiafaa & @ 19 a1 9w faudia I Tar @2

1. Equal attention given to the assessment of opportunity to learn and achieve / RE 3R U B P TR P 3fThel
IR A & &A1

2. Knowing and understanding scientific facts, concepts, principles, laws or theories /WH@, Gﬁﬂmﬂ&ﬁ, %I@'(‘",
ot a1 Rygidl &) ST 3R IHHT|

3. The ability to inquire / Wwaﬁ &HTI
4. Focus on intelligent students only /W@@ﬂﬂmm &I ST

Correct Answer :-

. Focus on intelligent students only /W@?ﬂﬁmw & o1

59) Which of the following learning approaches can help a student to summarize the material for exam preparation?

/ﬁqﬁé@aﬁﬁﬁqwmﬁaﬁwwwaﬁuﬁmaﬂﬁmﬁ%ﬁmamthﬁw&mmﬁmm
Thdl 82

1. Experimental learning approach / T Sifenmd ?@?ﬁm
2. Concept mapping / AT g

3. Rote learning approach / PER] SfeTH eI

4. Problem solving approach / JHYT JHTYTT HEEA

Correct Answer :-

. Concept mapping / b T EIEIEELYI

60) The emphasis from teaching to learning can be achieved / fRT&OT T RATH 9% YR 1 A gRT Ut far
ST P &:

1. by encouraging rote learning / FHo T B Eh?\“lT%T‘f PR

2. by helping child achieve good examination results / T B 3wy GRIEH IR UTed R § Hag PR
3. by adopting a lecture style instruction / T IR it RS Y UATHR

4, by adopting child-centred pedagogy / STd-bigd RISTRIRE D1 TSR

Correct Answer :-

. by adopting child-centred pedagogy / S-S o RITRIRA B SIS



